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Quiz 2

8P1S. == 1. Let L be the line in space passing through the point (2,—3,—1) and parallel to the vector ¥ =
2i + 47 + 5k.

a). Write the parametric equations for the line L.
b). Find the point where the line L meets the plane z +y -+ z = —13.
4 P"s, == 2. Find the velocity ¥(t) and acceleration @(t) along the curve:

7(t) = 2 costi + 2sint] + 2tE.

8 P‘fs. ===3, Find parametric equations for the line tangent to the curve:
7(t) = (4cost)i + (t* - 6sint) i+ (e*) E

at the value t = 0 of the parameter.
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